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2018
GEOGRAPHY
( General )

( Economic, Political and
Environmental Geography )

Full Marks : 80

Ttme : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :

1x10=10

oo FAICAIRe o5 Tl qfS Sfereay ;

{a) Which of the following is not a branch
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of economic geography?

TR (CB! ST T BT 41 W ?
(i) Agricultural geography
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) Transport geography, -

QTS Besie

(iv) Politica] geography
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(b) Which of the f,
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(i) Mediterranean Sea ang Red §
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N0 IR F #fe o
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(it) North Sea and Baltic Seq
OSSR e T a1
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(3)

¢/ In which of the following regions the
Gondwana Coal of India is found?

O (PICHT TS SRS SRl Il (oIl

(i) collecting occupation
e Jfe

(i) hunting occupation

o
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(H) Industria_l geograph
y
8o B

(i) Transport geography
SIRISIBRCI Ci

(iv) Political geography
TEARST Brorrer
S :
) zﬁﬁng ;I;e 1--lﬁf'ollcmering two seas ar
i e Suez Canal? 3
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(i) Black Sea and Aegean Sea

T R 1 SRR Mo

(i) Atlanti
¢ Oc
Sea €an and Mediterranean
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(i) Mediterranean Sea and R
ed
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(iv) North Sea ang Baltic S
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In whic
Gondwana Coal
S (CH] SO ST ST T CIEI

h of the following regions the
of India is found?

I ?

(i) Makum
bl

(i) Tamil Nadu
= o

(iii) Deccan Plateau
IRl ﬂla‘lﬁ

(iv) Rajasthan
qEEM

Pigmi, Bushmen and Hotten

are associated with

P, 3 S R
s 3fac 27
(i) collecting occupation
eared e
(ii) hunting occupation
o
(iii) fishing occupation
e e
animal rearing occupation
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tot people

T T

(iv)
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() Which of the following

(4)

(e) 95% tea of the world is produced in
R se% b= Beo =g
() Assam
TS
(i) India
SRES )
(i) Sri Lanka  /
e

(iv) South-East Asia
o wftars

. countries
produces. highest amount of iron and
steel in the world?
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et 1 2

i) UsA
TR 18
() Russia
RLER
(i) Japan
ol
{lv) India
SR

( Continued )
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(S)

(g9 Which one of the followipg is not
considered as greenhouse gas?

TR @RRY T CioEeR R T WA
i) CO,
A TR
(@) Os
'qq
(iii) O2
LR .

(iv) N,O

(h) The species Acacia is included under
| g oA SRRy WERe [ TR
PO .
(i) tropical monsoon forest
o PR T -
(i) tropical mountain forest
TR A A
(i) tropical thorn forest
2B P T
(iv) mangrove forest -
AR TANE
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Aoy T Sawm

~ The international boundary between

(6)

Which of the following geographers
developed the ‘Theory of Organic State’ ?

(i) Car 1 Ritter
37ef RO

(i) Freidrich Ratzel
@SR e

(ill) Halford J. Mackinder
IS (& Ifder

(iv) Karl Haushofer
I TR '

India and Afghanistan is known ag
SO S SRR S8 e gy g
() Durand Line
TS AR o
(i) Radcliffe Line
3T 1% sy
(i) McMahon Line
P % oy

(iv) Indo-Afghan Border |
SS-STE G S Rorea

( Continued )

(e)
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2. Answer the following questions in brief :

oo PR o T
(@) Write two examiplesr of ‘guartemary
occupation. o
vpde I o1 Tt v
(b) Mention twWo problems of a landlocked
country. .
W G2 o1 T T I

werorod S®

{c What is greenhouse?
clea R?

(d Write tW

(7)

2x5=10

(o) differences between subsis-

tence agriculture and commercial

agriculture.

e gR S IPRTERRT TR T

Mention four factors of flood in Assam.
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(b)

(c)

(d)
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(9)

Write the differences between State and

Nation.

?@WWW"I‘WW|

(e)

() Write an account on the drought prone
areas of India.

ZqRATS T REE @B O
fordi |

er any four of the following
ol SIRpR e fa -

ic geography. Expl

ematic approaches in
2+4+4=10

4. Answ questions :
10%x4=40

wors i arrr

€ econom
regional and syst
economic geography-

Seftfee vzzmmmmn AT FLAE
RGN ST S
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(a) Defin ain the
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(10 ) Y11
(¢ State. ‘ the necessary geographical t do you mean by biodiversity?
cgndmons for  cotton plantation @ ?EVha;am the causes of gradual .loss'of
Plsf;: ss about the distributiop, of cotton b:)pdiversity in North-East India Wzlst-{l7=1o
;;ldlae world with Special reference to special reference to Assam.
3+7=1¢ Wmﬁﬁ?wwwﬁ
W’ﬂ? W m ZIZ%IIW @ZW ) 5& w_vﬁ gﬁ@@ W m
T SIS F % o Ry WI | T TP I
IR mwmq T 47 | State. Explain- with
buffer X State
. ) Define . oortance of buffer
(d) Expl?.ln ﬂ?e geographic al fact exa_mples the 1¥n§al scenariO- 2+8=10
location of industry i an ors for in the internatio s T
area, 10 - SEAE
AN L L T 71 e SRR T T
wm M MBI
() Define environmental, Tk kK
Explain the SCope of Seography.
geography, €nvironmenta]
4+6=10
0 T PR W o I=m
0 What.are the factorg of gl
Explain the effects of glob, al warming?
| the earth, bal Warming on
| = O
Ij Cw %’f % 4+6=1
| e PRy R W’R ﬁ* o TR
| A 7 FEAAR arerq R,
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